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Instructions to candidates
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Answer all questions.


Write your answers in the spaces provided on the question paper.


Information for candidates


The number of marks is given in brackets [] at the end of each question or part question.


1	Explain the meaning of these computing terms.


(a)	Computer fraud [1]


(b)	Bar code	[1]


(c)	Relational database [2]


(d)	Read-only memory (ROM) [1]


(e)	Graphical user interface (GUI) [2]


(f)	File generations [2]


(g)	Debug [1]


(h)	Alphanumeric characters [1]


(i)	Analogue-to-digital conversion [2]


(j)	Verification [2]


(k)	Handshaking [2]


(l)	Simulation [2]


2 (a)	Give one example of the use of speech recognition devices. [1]


(b)	Give one reason why speech output may not be a sensible method of giving warning messages to drivers. [1]


3	Give one feature of a microprocessor-controlled camera that is not available in a manually-controlled camera. [1]


4	Explain how you would use a windows environment to copy a file from a floppy disk to a hard disc. [3]


5 (a)	What is a computer virus? [1]


(b)	How would you minimise the effects of viruses? [2]


6 (a)	Explain the difference between a compiler and an interpreter. [3]


(b)	Give one example of the use of a program written in a low-level language. [1]


7	Several years ago the owner of a small shop bought a computer system.  The owner did not ask a systems analyst for advice and, when the business increased, the computer system became unsuitable.


(a)	The owner has now consulted a systems analyst.  Give a reason why the systems analyst will do a feasibility study. [1]


(b)	The top-down design method will be used to design the new programs.  Give two advantages of using top-down design. [2]


(c)	Two types of documentation must be written.  Name the two types and explain why each one is needed. [2]


(d)	Explain why parallel running is not a suitable method of implementation for the shop's new checkout system. [2]


(e)	Give one sensible advantage to the customer and one to the manager of installing an improved computer system. [2]


8	A tourist can buy tickets at a fixed value of 25 units to travel on the underground railway represented in the diagram.


	-4-D-3-F-3-G-2-H


A-3-B-<


	-4-C-3-E


For example, a journey from F to C costs 11 units.


Each ticket has an electronic record of the number of units remaining.  At the start and the end of each journey the tickets are entered into an automatic machine.  At the starting point a machine records the code identifying the station.


At the destination the machine calculates the number of units used and calculates the number of units left.


As long as there are any units remaining, the passengers can travel any distance, as far as they like.  Machines retain tickets which have no units remaining.


Write an algorithm to describe what the ticket machine does at the end of a journey. [7]


9	Staff at a bicycle factory use a computer-aided design and computer-aided manufacture (CAD/CAM) to design and make the parts for the bicycles.


(a)	Describe two features of the CAD program that makes it suitable for designing the parts for the bicycles. [2]


(b)	Referring to their use in the design of the bicycle parts, explain the purpose of one input device and one output device. [4]


(c)	Give two distinctive features of the computer needed for CAD. [2]


(d)	Describe two security precautions that must be taken to protect against CAD/CAM system failure. [2]


10	A police station has installed a ring network with five terminals.


(a)	Name two other items of hardware that would be attached to the network and describe their purpose. [4]


(b)	A ring network was chosen in preference to a star network.  Give one reason why. [1]


(c)	The police needed to keep files of wanted people, to write accounts of interviews with suspects, to produce details of their expenses and to send messages to and receive messages from the other terminals.


List the four types of software that must be available on the network. [4]


(d)	The staff using the terminals are concerned about the effects on their health.  Give two reasons why they might be worried. [2]


11 (a)	Every night, Handibank's computer processes cheques and updates customer accounts.  


	Name the type of processing that is used. [1]


(b)	The customer account number and branch code are printed on the bottom of the cheque.  Name an item of data that must be typed in magnetic ink on each cheque before it is processed. [1]


(c)	Give one advantage of using magnetic ink character recognition as an input method to input the data on the cheques. [1]


(d)	The data read from the cheques and other transactions is stored on magnetic tape.  What type of file access must be used to access this data? [1]


(e)	Describe one way government laws help to protect personal data held in Handibank's customer files. [1]


(f)	Some customers use electronic funds transfer (EFT) to pay for purchases.  


	Explain one disadvantage of EFT to the customer and one advantage to the bank of this method of payment.  [2]


12	Better Bookbase is a database of books in print.  On the screen is a partially-completed record.  Each record occupies 500 bytes.  The starting position of the ISBN is the record 000 and that of the author is 010.


BETTER BOOKBASE APRIL 95


PRESS + / - for next / previous record(s)


FIELD		STARTING			Record 1 of 225


		POSITION


ISBN		000		0001651309


AUTHOR	010		Hacker,A


		100


		200


		225


		226


F1 Help : F2 Search : F3 Tele0 : F4 Sort : F5 Print


(a)	Suggest suitable field names starting at 100; 200; 225; 226 [4]


(b)	How could you use the system to list books on a particular topic? [5]


(c)	The books can be ordered online.  Name another file that would be needed for this to take place. [1]


(d)	Describe two advantages and two disadvantages of CD-ROM storage for this purpose. [4]


13 	The oxygen content and temperature in a fish tank have to be controlled.


(a)	Write an algorithm to achieve this. [4]


(b)	State six items of hardware, other than the processor, that the system must contain. [6]








